
Ben swam 9 laps at his first swim 
meet and 7 laps at his second 
swim meet. How many laps did 
he swim in all?

Lily has 9 gold medals. She has 
10 silver medals. How many 
medals does she have?

A store has 18 lemons and 6 
apples. How many fruits are at 
the store?

Ali has 15 kites and 8 dolls. How 
many toys does she have? 
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At the beach, 16 friends swam 
in the sea and 7 sat on the sand. 
How many friends were at the 
beach?

Max has 17 tomato plants and 4 
carrot plants. How many plants 
does he have in all?

Ben swam 26 laps at his first and 
second swim meets. He swam 19 
laps at his first swim meet. How 
many laps did Ben swim at his 
second swim meet?

Lily has 19 gold and silver 
medals. If 4 are gold, how many 
are silver?
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Mia rode her bike for 20 minutes 
on Monday and Tuesday. She 
rode for 9 minutes on Monday. 
How many minutes did Mia ride 
on Tuesday?

Kate and her mom planted 18 
watermelon seeds in their 
garden. Kate planted 7 seeds. 
How many seeds did her mom 
plant?

Jess bought 16 pieces of candy, 
and 9 were lollipops. How many 
pieces of candy were not 
lollipops?

Leo has 4 red shirts and some 
blue shirts. He has 12 shirts 
altogether. How many blue 
shirts does Leo have?
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Ben swam 12 laps at his first 
meet, 9 laps at his next meet, 
and 4 laps at his last meet. How 
many laps did Ben swim?

Lily has 3 gold medals, 4 
silver medals, and 9 bronze 
medals. How many medals does 
she have in all?

Zara made $8 raking leaves, $10 
mowing a lawn, and $5 
washing a car. How much 
money did Zara make?

Amy has 8 pens, Dee has 12 
pens, and Jada has 6 pens. How 
many pens do the girls have in 
all?
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Ted has 3 red hats, 5 blue hats, 
and 2 green hats. How many 
hats does Ted have altogether?

Will spent $5 on games, $9 on 
gum, and $2 on a drink. How 
much did he spend in all?

Ben swam 13 laps at his first 
meet and 8 laps at his next meet. 
How many more laps did he 
swim at his first meet?

Lily has 12 gold medals and 7 
silver medals. How many more 
gold medals does she have than 
silver medals?
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The red hen laid 14 eggs. The 
brown hen laid 8 eggs. How 
many more eggs did the red hen 
lay?

JJ found 8 gold coins and 12 
silver coins. How many fewer 
gold coins did he find than silver 
coins?

Ann picked 9 daisies and 15 
tulips. How many fewer daisies 
did she pick than tulips?

Becca spent $4 on slime and $13 
on a toy. How much less did she 
spend on slime than on a toy?
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Ben swam 6 more laps at his first 
meet than at his second meet. 
He swam 8 laps at his second 
meet. How many laps did he 
swim at his first meet? 

Lily has 3 more gold medals than 
silver medals. She has 15 silver 
medals. How many gold medals 
does she have? 

Dezi has 12 marbles. Tom has 5 
marbles. How many more 
marbles does Dezi have than 
Tom?

I have 5 more onions than 
peppers. I have 7 peppers. How 
many onions do I have?
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There are 6 more people on the 
bus than on bikes. There are 13 
people on bikes. How many 
people are on the bus?

There are 5 more girls on the 
trip than boys. There are 18 girls 
on the trip. How many boys are 
on the trip?

Ben swam 4 fewer laps at his 
first meet than at his second 
meet. He swam 22 laps at his 
second meet. How many laps 
did he swim at his first meet?

Lily has 10 fewer gold medals 
than silver medals. She has 30 
silver medals. How many gold 
medals does she have?
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The class has 9 fewer cartons 
of chocolate milk than whole 
milk. The class has 15 cartons of 
whole milk. How many cartons 
of chocolate milk does the class 
have?

Ruby spent $8 less on snacks 
than on her movie ticket. Ruby 
spent $17 on her movie ticket. 
How much did she spend on 
snacks?

Ava has 5 fewer nickels than 
dimes in her bank. Ava has 15 
dimes. How many nickels does 
Ava have?

The baker made 6 fewer 
oatmeal cookies than sugar 
cookies. The baker made 12 
sugar cookies. How many 
oatmeal cookies did the baker 
make?
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Ben swam laps in his meet. Then, 
he swam 2 more laps before 
going home. If he swam 8 laps 
that day, how many laps did he 
swim in his meet?

Lily had some medals. Then, she 
lost 5 medals. Now, she has 13 
medals. How many medals did 
Lily have to start?

The space team saw some 
planets. After they got gas, they 
saw 6 more planets. They saw 9 
planets on their trip. How many 
planets did they see before 
getting gas?

The donut shop had some kids 
in the shop. By lunch, 5 kids had 
left. Now, there are 9 kids in the 
shop. How many kids were in 
the shop before lunch?
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Ralph had some markers. Then, 
he bought 4 more markers. 
Now, he has 10 markers. How 
many markers did Ralph start 
with?

Sam saved some money, then 
he spent $4 on a ball. Now, Sam 
has $8 left. How much money 
did Sam save before he spent 
money on the ball?

Ben swam 16 laps in his first 
meet. Then, he swam some 
more. If Ben swam 24 laps that 
day, how many more laps did 
Ben swim?

Lily had 13 medals. Then, she 
lost some medals. Now, she has 
4 medals. How many medals did 
Lily lose?
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Sara ran 13 miles in the morning. 
After lunch, she ran more. Sara 
ran 21 miles in all. How many 
miles did she run after lunch?

There were 15 kids in the class. 
Some kids left. Now, 6 kids are 
in the class. How many kids left?

Mia had 8 skirts. Then, she got 
more as a gift. Now, Mia has 11 
skirts. How many skirts did she 
get?

There were 11 girls on the 
playground. Then, some girls ran 
inside. Now, 4 girls are on the 
playground. How many girls ran 
inside?
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Ben swam 17 laps. Then, he 
swam 9 more laps. How many 
laps did Ben swim in all?

Lily had 15 medals. Then, she 
lost 5 of her medals. How many 
medals does Lily have now?

Max the monkey ate 20 
bananas. Then, he ate 7 more. 
How many bananas did Max eat 
in all?

Diego had 14 shells. He gave 7 
to his friend. How many shells 
does he have now?
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Amy went down the slide 3 
times. Then, she went down 9 
more times. How many times did 
Amy go down the slide?

Jason brought 12 balloons to the 
pool. By lunch, 5 had popped. 
How many balloons were left?

Sarah picked 12 apples. Then, 
she dropped 5. How many 
apples does she have left?

Margo picked 15 daisies from 
her garden. Then, her friend 
gave her 5 more. How many 
flowers does Margo have now?
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